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Spring 2010

Randy L. Canis

TEST 3 – Final Exam

Tuesdays:  4:00 p.m. -6:30 p.m.
Instructions:

Every question is worth 2 points for a total of 100 points.  You may not use a partner for this exam, but it is open book, open note and open Internet.  Submit your answers on the excel document that is available on the web site, and not in this document.  All answers must be either A, B, C or D or they will not be scored correctly (although a question may have more than 1 right answer).  Pick the best answer.  Good luck and have a great summer!

1 – Linking to technology that is developed or advertised to defeat technological protections against unauthorized access to a work is a violation of the DMCA.
A – Yes

B – No

C – Maybe

2 – Technology that avoids geographic restrictions on territorial usage of playing video games is a violation of the DMCA.
A – True
B – False

3 – Where do lock out codes fall with respect to copyright?
A – Closer to original-expression

B – Closer to functional-idea

C – Closer to operational-expression

D – None of the above

4 – A device sold in the US that modifies the rules of a specific computer game:

A – Violates the DMCA when offered by a third party not authorized by the software developer of the computer game.

B – Will be considered a fair use when offered by a third party not authorized by the software developer of the computer game.

C – Is only legal when authorized by the software developer of the computer game.

D – None of the above.

5 – A registered agent is a prerequisite to obtaining the DMCA safe harbor for Transitory Digital Network Communications.

A – True

B – False

6 – If you fall outside of a safe harbor of the DMCA, does that mean you are liable for infringement?

A – Yes

B – No

C – Maybe

7 – Which DMCA exemption relates to content stored in a user’s account with an ISP and available online?

A – 512(a)

B – 512(b)

C – 512(c)

D – 512(d)

8 – A search engine that links to infringing content may fall under which of the following safe harbor exemptions?

A - §512(a)

B - §512(b)

C - §512(c)

D - §512(d)

9 – Does the IRS use the same criteria as courts for determining whether a worker is an employee or an independent contractor?
A – Yes 
B – No
10 – In order to form an agency relationship
A – The principal must have contractual capacity
B – The agent must have legal capacity
C – A & B
D – None of the above
11 – An agency relationship can arise by
A – Agreement among the parties
B – Ratification
C – Estoppel
D – All of the above
12 – Can an agent represent two principals in the same transaction?
A – Yes, so long as at least one party knows
B – Yes, so long as the agreement is in writing
C – No, unless the transaction is a real estate transaction
D – No, unless the parties both known and consent
13 – An agent can have express authority or implied authority—but not both.
A – True
B – False
14 – Is a principal liable for an agent’s unauthorized acts?
A – Yes, if the agent has implied authority
B – Yes, if the principal ratifies the agent’s unauthorized acts
C – No, unless the principal is undisclosed
D – No, unless the agent is outside the scope of employment
15 – Is a principal liable for the tort of an agent? 

A – Yes, so long as the tort was not an intentional tort
B – Yes, so long as the agent was acting within the scope of employment
C – No, unless the agent was on his/her way to work or eating lunch
D – No, unless the agent was negligent
16 – An employer is free to terminate an at will employee at any time so long as proper notice is given.
A – True
B – False
17 – Under the doctrine of trespass to chattels, access that exceeds the scope of authority but is nonetheless nominal will:

A – violate the doctrine.

B – not violate the doctrine.

18 – A request or invitation to negotiate is an offer.
A – True
B – False
19 – Can silence be acceptance?
A – Yes
B – No
20 – Can a return promise be sufficient consideration for contract formation?
A – Yes
B – No
21 – If a certain amount of money is owed on a debt, and a lesser amount is paid in attempt to settle the debt, is the debtor still on the hook for the rest of the money?
A – Yes, if the debt is liquidated
B – Yes, if the debt is unliquidated
C – A & B
D – None of the above
22 – To trespass based on accessing a computer system, a plaintiff must establish: 
(1) defendant intentionally and without authorization  interfered with plaintiff's possessory interest in the computer system; or

(2) defendant's unauthorized use proximately resulted in damage to plaintiff. 

A – True

B – False

23 – Which type of organization does not pass through income, losses, and credits through to members?
A – LLC
B – Limited Partnership
C – C-Corp
D – General Partnership
24 – Which organization does not have at least some members with limited liability?
A – LLC

B – Limited Partnership

C – C-Corp

D – General Partnership

25 – Why were sections of the Communications Decency Act of 1996 struck down by the Supreme Court?

A – The statutes were ambiguous on their face and therefore subject to selective enforcement.

B – The statutes were not narrowly tailored. 

C – The statutes abridged the First Amendment.

D – B & C

26 – If the specification defines a range, and you wish to claim a subset of that range to avoid the prior art that is not explicitly disclosed in the specification, what rejection is an examiner at the USPTO likely to give you?

A – An enablement rejection

B – A novelty rejection

C – A written description rejection

D – A patent eligibility rejection

27 – In general, why are modules and subsystems included with software patent applications?
A – Software methods are not otherwise patentable
B – Because I did a Google search on the answer and believe that the best way to answer questions on Randy’s test is to perform a Google search on the answer without looking at the slides, the book, and the lecture notes.
C – Sequence listings require disclosure of modules and subsystems

D – To provide explicit support for system claims

28 – A claim is as follows:
A method comprising:

A,

B, 

C.

Does a method including steps A, C, D and E infringe?

A – Yes

B – No

C – Maybe

29 – On what basis might an examiner reject a claim if an article of the claim is not introduced by an indefinite article?
A – Written description
B – Novelty
C – Obviousness
D – None of the above
30 – When must a nonprovisional application including no new matter be filed if it claims priority to a provisional patent application?
A – Within 6 months
B – Within 12 months

C – Anytime

D – None of the above

31 – Owning a patent on an invention gives a company the right to:

A – Practice the invention

B – Prevent others from practicing the invention

C – A & B

D – None of the above

32 – Which type of ADR does not have a neutral third party present?
A – Negotiation
B – Mediation
C – Arbitration
D – A duel
33 – For .info domain names, is the registry also a registrar?

A – Yes

B – No

34 – In resolving a domain name dispute, under which procedure/cause of action can you obtain an injunction?

A – ACPA

B – DMCA

C – Both

D – Neither 

35 – The registrant for the stlcardinals.com domain name is:

A – St. Louis Cardinals, LLC

B – Major League Baseball, Inc.

C – Randy Canis
D – None of the above

36 – What typically happens to a case when the 8th Circuit rules differently on a similar set of facts to a case that was previously decided before the 5th Circuit?

A – Another circuit breaks the tie between the circuits.

B – The losing party will typically appeal to the Supreme Court citing a split among the circuits.

C – Nothing.

D – The 8th Circuit cannot rule differently on a similar set of facts from the 5th Circuit.


37 – If the facts are substantially similar in a previous proceeding relative to a current proceeding, under what legal reasoning should the court rule in a similar manner?

A – Secondary sources

B – Blue pencil
C – Voir dire

D - Stare decisis

38 – An operator of which of the following websites is most likely be subject to personal jurisdiction anywhere in the country based strictly on their website content?

A – Apple.com website

B – College professor website

C – VivaElBirdos.com website

D – All are equally likely

39 – The client, and not the attorney, is solely liable for a document submitted for an improper purpose.
A – True
B – False
40 – Can you recover both statutory and actual damages in a lawsuit for copyright infringement of a particular work?

A – Yes

B – No

41 –The factual information in a computer database is subject to copyright protection.

A – Yes

B – No

C – Maybe

42 – You can develop trademark rights without ever registering the trademark.

A – Yes

B – No

43 – Can two different parties have trademark rights on the same mark?

A – Yes, if they are in different geographic areas

B – Yes, if they have different goods and/or services that will not cause a likelihood of confusion with one another

C – A & B

D – None of the Above


44 – What clause enables the federal government to govern when there is a conflict between state and federal law?
A – Full Faith and Credit Clause
B – Privileges and Immunities Clause
C – Commerce Clause
D – Supremacy Clause
45 – You make a speech in another class about a student in that class.  In the speech, you identify the student and state that the student has slept with every MST custodian of the opposite sex under 40 years of age.  You won’t be liable for slander if The student has actually slept with every MST custodian of the opposite sex under 40 years of age.
A – True
B – False
46 – As of April 27, 2010, what is the name of the last Google patent application to publish?  Assume that the last application means the last application to name Google as the assignee when published.
A – Information retrieval based on historical data
B – Systems and methods for providing and installing software
C – Click to call advertising
D – Suggesting and/or providing ad serving constraint information
47 – Can an employee structure of an organization be considered a trade secret?

A – No, the information is in the public domain

B – No, the information is obvious to someone of skill in the art

C – Yes, so long as the employee structure is novel

D – Yes, as long as efforts are made to keep the employee structure secret

48 – What is the next step you should take after locating a conflicting domain name?

A – Send a cease and desist letter

B – Perform a background investigation

C – Nothing, no further action should be taken

D – File a UDRP

49 – If someone has a federal trademark registration on the mark “Golddigger” for a video game, and a third party seeks to use the trademark “Golddigger” for a type of ice cream, and assuming the mark “Golddigger” is not a famous mark, can the third party register the mark?

A – No, the mark “Golddigger” is a generic mark.

B – Yes, the mark “Golddigger” is a descriptive mark

C – Yes, the proposed use of the mark by the third party will not cause a likelihood of confusion with the federal trademark registration.

D – Maybe, it depends on the geographic areas in which the marks are used.

50 – I would like my final grade in this course to be:

A – A

B – B

C – C

D – Just pass me, I need to graduate.

Bonus Questions

· My opinion on the group project is…

· What topic(s) would you have liked to have spent more/less time discussing?

· Any advice on how to improve the class for future semesters?
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